
SGS THOMSON
*^«[l(g¥l(o)KlD(gi BUX10P

HIGH CURRENT, HIGH SPEED, POWER TRANSISTOR

: e s c r ip t io n

~ne BUX10P is a silicon multiepitaxial planar NPN 
-ansistor in SOT-93 case, intended for use in swit- 
tning and linear applications in military and indus- 
- al equipment.

ADVANCE DATA

ABSOLUTE MAXIMUM RATINGS

Symbol Parameter Value Unit

V c B O Collector-base Voltage ( I e  =0) 160 V

V c E X Collector-emitter Voltage ( V b e  = 1.5 V) 160 V

V c E O Collector-emitter (lB = 0) 125 V

V e b o Emitter-base Voltage (lc = 0) 7 V

l c Collector Current 25 A

I c M Collector Peak Current (tp =10 ms) 30 A

I b Base Current 5 A

P tot Total Power Dissipation at TcaSe S 25 °C 106 W

Tstg Storage Temperature -  65 to 150 °C

T| Junction Temperature 150 °C
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BUX10P

THERMAL DATA

~*th |-case Thermal Resistance Junction-case Max 1 .1 7 °C/W

ELECTRICAL CHARACTERISTICS (Tcase = 25 'C unless otherwise specified)

Sym bol P aram ete r T e s t C ond itions Min. Typ. Max. Unit

ICEO Collector Cutoff Current 
(Ib =  0)

V C E = 1 0 0  V 1 .5 m A

ICEX Collector Cutoff Current V c e  = 1 6 0  V  

Tcase  =  1 2 5  °C

VBE =  — 1.5 V 1 .5 m A

V CE = 1 6 0  V V BE = -  1 .5  V 6 m A

I e b o Emitter Cutoff Current
( l c  = 0 )

< m CD II cn < 1 m A

V cE O (su s ) Collector-emitter Sustaining 
Voltage lc =  200 mA 1 2 5 V

V e b o Emitter-base Voltage ( l c  =  0) I e  =  5 0  m A 7 V

V cE (sa t) Collector-emitter Saturation l c  =  1 0  A I b  = 1  A 0 .3 0.6 V

Voltage l c  = 2 0  A l B = 2  A 0.7 1.2 V

V BE (sa t) Base-emitter Saturation 
Voltage lc =  20 A

<CMIICD 1.6 2 V

h F E DC Current Gain lc  =  1 0  A V CE = 2  V 20 6 0 ;

l c  = 2 0  A VCE = 4 V 1 0

U /b Second Breakdown Collector V CE =  3 0  V t -  1 s 3 .5 3 A

Current VCE =  48 V t =  1 s 1 A

fT Transition Frequency l c  =  1 A

f =  10 MHz V c e  = 1 5  V 8 MHz

t o n Turn-on Time l c  = 2 0  A

V c c  =  3 0  V
I b i  = 2  A 0 .5 1.5 ps

t. Storage Time l c  =  2 0  A
I b i  =  I b 2 =  2  A

0.6 1 .2 ps

tt Fall Time Vcc = 30 V 0 .1 5 0.3 ps

Clamped E s/b Vclam p —  1 2 5  V 20Collector Current L =  5 0 0  p H

Safe Operating Areas.
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